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Lightning Strike Prevention Tr? c:nspicuous damfgilmm the trunk of a large tree to its root (FIG.1) shows the passage
. ; of lightning current, which was taken by a mountain climber. This photograph shows us that
n MountaanUS Area in the event of lightning in a mountainous area, the side of a large tree is very dangerous. Its
Learning from Lightning Damage root expands under the ground, and if lightning current runs through it, excessive electric
voltage occurs and, therefore, il is important to keep away from large trees in such a case.
As well as the above, general precautions against lighining are described in this paper. Note
that the distance lightning is judged to be is about 3km in the case where the interval between
the lightning and thunder is 10 seconds.

(Electric Power Research & Development
Center, Electrical Engineering Group)
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